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ECOACORO08T-EcoNnoMICs (CCS8)

INTERMEDIATE MICROECONOMICS-II
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks. aNfeE T F0Z T YMo Q"Y/VW fac e
Candidates should answer in their own words AT [NCST ©IRNF TR TG AT AT M
and adhere to the word limit as practicable. s R

1. Answer any five questions from the following: 2x5=10

T @-CFieat #fpfe elvex Tex wiss
(a) What is dominant strategy?

LSIHN (FHIeT FICEF T 2
(b) Define Nash equilibrium.
T SIS FResl e |
(¢) What is Cartel?
FICoeT = 9
(d) Why demand for input is called ‘derived demand’?
Toe BIfRAICS Tg® bifRw! <&l &7 (3 2
(e) Differentiate between firm’s demand and industry demand for inputs.
TeAMCR TP (GG IR Bifwt @ fice wifgwia shiefe
(f) Give two examples of externality in consumption.
(S CF0q Ao 7o Snizze wie |

(g) How in a perfectly competitive market Value Marginal Product of Labour
(VMPL) and Marginal Revenue Product of Labour (MRPL) are related?

A efsife ATIE AGR 2AfeF TesimeTa To (VMPL) @R #7 2ifes =i
TeoMeTd (MRPL) @3 SC& o510 e 9

(h) In a two-person, two commodity economy, define the contract curve for
consumption.

72 &, 72 T3y 377/ SLTI0s (SIR (F0T contract Gl FICF 0T 9

2. Answer any four questions from the following: 5%4 =20

fsEe @-@iet 51Ff6 2tia Teq wies

(a) Explain the monopolistic and monopsonistic exploitation of labour.

TR GFCH O] FIRAG TS (<110l 8 Tqo (A5 eIFel-a= Li=eN 7ib i T |
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(b)

(c)

(d)

(e)

(a)

(b)

(c)

(d)
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Show that the elasticity of supply of an input governs the level of rent.
e I THAMICTR QIslicTd FEfeg=mela $v@ Aemia »/feed fea s
Explain Prisoner’s dilemma.

A R e T e

Differentiate between rent and quasi-rent.

el 6 SI- el e AL Tl |

Explain the concept of excess capacity of a firm under monopolistic
competition.

GO ASRIISIETF AR T Tge Foid ARelB 41 T |

Answer any two questions from the following:
fasfeie @-ce 7 et Teq wies

Critically examine the ‘Product exhaustion’ theorem.
T IR Oglh FANCABCRA ROl (TS 215 el |

Explain the role of trade union to increase employment and / or wage rate in an
imperfectly competitive market.

35 Svp-aferaifor A i ke Feim e g / w121l Tgae 29 Ireice
AN, S SN FCE |

Consider a duopoly market, where each firm operates zero cost. The demand
function of the product is X = 120 — P.

(i)  Find the price and output of each firm under Cournot’s frame work.

(i) Find the level of price output if the two firms are involved in tacit
collusion.

@ AF, @0 TR IASIE TAVE X1 AGIE T HIRw S 28-

X =120-P.

(i) FCIR NCCCE TR SRE) Wi @ T 2Ifistiel 6 203 9

(i) T wrf g6 STPpHiie @RIPE’ SEPIE 531 O@ AGIE SRPI) Wi 8
TR IRl [ 207 9

Explain the price and output determination in a model with a dominant firm and
a competitive fringe.

a3 T A 2T T 8 PR APRAFIA TG TAWE (B! AP Foid 7w @
Tesive i Prals (ew 2@ AT, ©f [ F!

N.B. : Students have to complete submission of their Answer Scripts through E-mail /
Whatsapp to their own respective colleges on the same day / date of examination within
1 hour after end of exam. University / College authorities will not be held responsible
for wrong submission (at in proper address). Students are strongly advised not to submit
multiple copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 4th Semester Examination, 2022

ECOACORO09T-EconoMmiIcs (CC9)
INTERMEDIATE MACROECONOMICS-II

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z TN Q"Y/VW fac Fed1
Candidates should answer in their own words AT TS ST I TS TN
and adhere to the word limit as practicable. s R
I. Answer any five questions from the following: 2x5=10
fafeiie -t #fipfs elvas Teg wiss

(a) Distinguish between fixed and flexible accelerator.
1 o ¢ 2 TNe T56-93 g AL 9
(b) What is the Net Present Value (NPV) criterion of investment?
fRfvcaieR 6 IS e = & ¢
(c) What is secular stagnation?
wfifen Rt e T 6 9
(d) What happens to velocity of money circulation with rise in rate of interest?
MR RIER Jian [FSIR ToInE TV [RoNS 2doife 3 9
(e¢) What is Fisher Effect?
P el & 9
() What do you mean by consumption puzzle?
olee ikl FeTce & @i 9
(g) What is Solow residual?
Solow-43 SRf*E F57ce F @RI ¢
(h) What is inventory investment?

epe-RfCe I 30T 9

2. Answer any four questions from the following: 5x4 =20
fasfie - e elvss Teg nies

(a) According to the Growth Accounting Approach, what are the sources of
economic growth?

Wi s oo SPE Sl Sfem Teorefe & & 9
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(b)

(c)

(d)

(e)

®

(a)

(b)

(c)

(d)
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Show that for binding borrowing constraint, consumption depends only on
current income.

YT SR A (SR NG (6] IO SNEE Sod fToa et —p1 Sl

How Tobin’s q is related to Neo-classical theory of investment?

SRR e Tt srea [ $oed e 7y 9

How an income tax on corporate profit affects investment decision?
Affere k=R e Tor 31 [Fel RfTaies e geiie 3@ ¢

What is steady state? Derive the steady state condition in the Solow growth
model.

SR SIFAN T 09 F @R 2 Solow-93 iﬁ?ﬂ%W oM SR SR
*S (9 A |

Using Regressive expectation model show that the individual demand for money
is a ‘step function’.

eyt erepl wre S bifgnl @A @ G A-SeES 9 I T

Answer any two questions from the following:
fasfeie - 7 evs Teq wies

What is meant by ‘risk aversion’? Discuss how risk averting individual would
determine optimum portfolio diversification between money and bond. Derive the
demand for money curve in this context.

A ~IfFe e & @RI = 92 I e e 5l ¢ 0o @ FeiE o
(G Fotnd S 3B T 9 @B 2P Wl bifem @i @@ S

Show that the Harrod-Domar equilibrium condition implies a ‘knife-edge
equilibrium’ for a free enterprise economy.

& TWIeR SRR FIRe-(OMIE 2Biie Sy =t o SN s
SRECS WO FE —10 I

What is the limitation of Keynesian Absolute Income Hypothesis? How does the
Life Cycle Hypothesis of consumption propose to overcome that?

(F2H-G3 HAN O g ANAFI & 9 @3 FAws! 17 T (FCG (SR GIAbes
©Cgd BRI 2

What do you mean by Golden Rule level of capital accumulation in the Solow
growth model? Derive the condition that describe the Golden Rule.

Solow T WG Y @R Féffe fww o0 & @it ¢ @2 fwfo e
fofg s 9

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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B.A./B.Sc. Honours 4th Semester Examination, 2022

ECOACORI10T-EconoMmics (CC10)

STATISTICAL METHODS FOR EcoONOMICS-II

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z TN Q"Y/VW fac Fed1
Candidates should answer in their own words AT TS ST I AT AN
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

I. Answer any five questions from the following: 2x5=10

fasfrie - #pfe et Ted nies

(a) Distinguish between a population and a sample.
FEF QR TN W& AL T |

(b) Find the probability that a continuous random variable assumes a definite value.
(5 wiffozs TS beTea GG e WA arzel Tl il fef el

(c) Prove that P(AU B)= P(A)+ P(B)— P(AA B), where 4 and B are two events.
2l S P(AU B) = P(A)+ P(B)— P(AA B) Rt A '€ B 76 <611

(d) Distinguish between a random and a non-random sample.
F-TGI T G SPTAG AYAE W 2L FC |

(e) What is meant by expectation of a random variable?
TR 5 2Tl TeT0e F Q@I 9

(f) What is the probability of getting 53 Sunday in a leap year?
@35 SR (leap year) 5310 3R ARF WA F© 2

(g) What is systematic sampling?

oz TIHA 2fafs P WA 9

(h) Check the consistency of the statement: “The probability that a mineral sample
will contain copper is 0.28 and the probability that it will contain copper and Iron
is 0.36.”

RIS wralferef et ae — “@w @3 fes TI= T Sl A TERA 0.28
=R 63 TR W Ol GR @R AR TR 0,367 1
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2. Answer any four questions from the following:
T @-ieal 5o @eie Ted mies

(a) A four digit number is formed by the digits 6, 7, 8, 9 with no repetition. Find the
probability that the number is odd.

6, 7, 8, 9 el Bl 9% T FT WA o4 A ge A [ewre =
A F© ?
(b) The mean 1.Q of a group of children is 90, with a standard deviation of 20.

Assuming that 1.Q is Normally distributed, find the percentage of children with
L.Q. over 100. Given ®(0.5)=.6915 where ®(x)is the cumulative distribution

function of standard normal distribution.

@Fvel Wy A% [.Q 90 ¥R s Rpfe 201 @ TF 1.Q FeIRS W a Gt 5ee|
T *foike ez 1.Q 100-93 TAE @ 9T I, @eht =g € (0.5) =.6915 @RI
®(x) = standard normal NGItaR cumulative TR ST |

(c) Giving example explain difference between statistic and parameter.

TWIEFe FRCANET “Statistic” € “Parameter”-9g W& 2w Sl

(d) A population consists of five numbers. 2, 3, 6, 8, 11. Consider all possible
samples of size two which can be drawn with replacement from the population.
Find the Standard Error of sample mean.

@3 v @ [fE sweEs wwel 21 2, 3, 6, 8, 111 W2 WA (R&F 42 T«
R Ry Tefd (FaeaemeR) [asa F@h aoF@ T ored e aife
N

(e) State and prove Bayes’ Theorem.
Bayes’ TA#Imjib R '@ &Nl el

(f) A random variable has the following probability function:
{6 PTG BT S| SCoFFFIO b (e Zes

X o123 4|56 7
PX) | O | k | 2k | 2k | 3k | k¥ | 2k% | Tk+k

Determine (i) Constant k (i) P(X <6) (i) P(X =6)

e F@ () &5 k (i) P(X <6)  (ii)) P(X 26)

3. Answer any two questions from the following:
fasfeie - 7 et Teq wies
(a) (1) Write the classical definition of probability. What are its limitations?

TAGIRAIG ol @ wie |  F Aaerafs i & 9

(i) A bag contains 6 white and 9 black balls. Four balls are drawn at a time. If the
balls are not replaced before the second draw, what is the probability for the
first drawn to give 4 white and the second to give 4 black balls.

@30 et uH M @3z S FeE I SR @FAE 8% I ot T o
mwmﬁmﬁwmwmmnm@,wawc@mmsi%ww
Taor colet 80 FICET Fe1 AT AR F'© 2

4111 2
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(i) Twelve pairs of shoes are there in an Almirah. Four shoes are selected at
random. Find the probability that there will be at least one complete pair
among the shoes selected.

a0 SEIRre S &el grel wiel 86 grel ©iF W& @ (o TE @3
fFdifoe 86 grer i swe Wb 7o) (@ISl AR ©IF TR F© 9

(b) (i) Discuss the Importance of Normal distribution in Statistics. Can Poisson
Distribution ever be limiting form of Normal Distribution?

A v FeiiRe M @Fg JEha F@h 2ew [ & FAE
Freifie It FiEe 79 20 7 9

(i1) Find the probability that at most 5 defective bolts will be found in a box of
200 bolts, if it is known that 2% of such bolts are expected to be defective

[Given e =0.0183] .

3 2% FEHIS @G ite Lo T4 2, 200 @ SR G5 ACH FE 56 @6
FYE 2 TR F© 9

(c) (i) Find the mean of a sample mean in both SRSWR and SRSWOR. Also
calculate Standard Error of Sample Mean in SRSWR.

SRSWR @& SRSWOR *&f® ufoa fefers 92w Tai oitea 1w el s
SRSWR-3 (G T 91T I @i fefyr el

(i1) Define Standard Normal probability distribution.
29l (standard) TR FERA! (-9 7@ wie |

(d) (1) Discuss objectives of sampling.
TABT 2o Sel) SeTb=l S|
(i1) Explain the sampling distribution of a statistics.
@3 statistics—aF TYNBe NI (sampling distribution) 145 T |
(i) The joint probability density function of two random variables X and Y is
given by
f(X,Y)=k Y(1-X-Y), when X 20, Y >0, X+Y <1
=0 otherwise
Find the value of k.
75 5676 X @R V-9 P TEIR Ioig SHS [l
f(X, )=k Y(1-X-Y),39 X 20, Y20, X+Y <1
=09,
k-9 i T e

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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B.A./B.Sc. Honours 4th Semester Examination, 2021

ECOACORO08T-EcoNnoMICs (CCS8)

INTERMEDIATE MICROECONOMICS-II

Time Allotted: 2 Hours

The figures in the margin indicate full marks.
Candidates should answer in their own words
and adhere to the word limit as practicable.

1. Answer any five questions from the following:

e @-ciet 256 2via Ted wies

(a) Why demand for input is called derived demand?
ToAWICT BIfewl (F (1 Sgo bifew 3@ 23 9

(b) What is ‘mixed strategy’?
TR T e e 9

(c) Define two-person zero sum game.
18 & 2= (-7 el wie

(d) What are the economic effects of Trade Union?
WS e wLAfoF 2o [ 9

(¢) What is Iso-Profit Curve?
- AR (A PICF A 2

(f) What is meant by reaction curve?
eifster @il Fe1ce & @ical 9

(g) Why supply curve of labour is backward bending?
TR QN Gl (T 2RO 2 9

Full Marks: 50

e FNT FIE Ko TN 07 T |
AFITAN e CIRNT TR ST ANNT I
GeT T

2x5=10

(h) Differentiate between firms demand and industry demand.

FIC BifEwt @ it vifzwia g e FE

2. Answer any four questions from the following:

fsEe @-iet 51Ff6 2eia Ted wies

(a) ‘Nash equilibrium is not necessarily unique’- Explain.

T SIRACTR SO HO© Hw o0 727~ YT FCA |

5x4 =20

(b) A monopsonist uses only one variable input, labor(x), to produce her output g,
which she sells in a competitive market at a fixed price P = 2. The production and

labour supply functions are ¢=6x+3x>-0.02x’and r =60+ 3x respectively.
Determine the value of x, ¢ and r at which she maximizes the profit.

4011 1
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T GSEHA (ol G THAMI (x) TR FW G (¢) TAMT FE| ¢ @9 A&
2SSl o1 IR O3 AR o7 P = 2, A SNCHF '€ FCHF @I o Fpsfer
FAE g = 6x+3x> —0.02x° R 1= 60 +3x , TAWE JAF FABIE x, ¢ 9K 7
@7 i fefr

(c) State the assumptions of the Cournot’s solution.
FCA AN CTRICAIR (ot S >l [ F

(d) What is first movers advantage? Explain with an example.
2/ 2RCHPIN R @00 6 @R 9 956 Sriggel F2CACA AT S|

(e) ‘Labour exploitation occurs in the monopoly market’- Explain.
T (1T G ASAC TE - FI FCA |

(f) Show that elasticity of supply of an input governs the level of rent.
@18 @ ToMITTR @I FEfoRIsiFolr es7 Qemim 2 faeq 31

(g) Distinguish between rent and quasi-rent.
el 6 SI- el e A1) Tl |

3. Answer any two questions from the following: 10x2 =20
fasfie @-ce 7 evs Teq wies
(a) “Rent is not income of a particular factor of production but merely an aspect of an 10

income of any factor of production”. —Explain.

QS @FIC @0 [e Tomiena o 1, @b @-GEFieat SAmIeR SNEd G [T

SR T R

(b) What is Cartel? Use prisoner’s dilemma to explain Cartel Instability. 2+8
FGA & 9 Fma 7wl (prisoner’s dilemma) @3 S FGER BRced Rl
D P

(c) In a competitive set-up derive the firm’s demand curve for a variable productive 10

agent when more than one variable input is used.
ACROITTF @FAG @6 AR Tt viftnl @Al [y @, @i
Tesin 2lfoRiai G AfFaeaae Soivia 27 e |

(d) ‘If all the markets in an economy are perfectly competitive, Pareto efficiency will 10
automatically be reached’-Do you agree with this statement? Give reasons.

‘I wLTifen W TR A T s eferifiel Iwr AT O ANEE! vl
FRIFTOIR oo T4 7eT- YN F 92 ISR MY 2o (e Ity Y& 7F I
BRI I&IN

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 4th Semester Examination, 2021

ECOACORO09T-EconoMmiIcs (CC9)

INTERMEDIATE MACROECONOMICS-I1
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10
feaferfae @-cieat =5 @ Te nies

(a) What is the difference between transaction theories and Portfolio theories of
demand for money?

i bifEwin Tee-vy ¢ vl wrgd W AL & o
(b) What is meant by Precautionary demand for money?
TeF O S bifent F&Ice & @It 2
(¢) What is growth accounting?
wifdle A el F570e 5 QIR 9
(d) What is meant by intertemporal budget?
ST ST P T 2
(¢) How an investment tax credit may influence investment decision of a firm?
G F9-29 ForE Tk (s i e geifte 3@ 9
(f) What do you mean by consumption puzzle?
(oiete Ll TeTce 6 @il 2
(g) What is Solow residual?
Solow-3 SRME Fce & @RI 2
(h) What is meant by ‘Warranted Rate of Growth’ in Harrod’s growth model?
iaed Wi 2sife Rags afowm g esfegs e F @R o3 9

2. Answer any four questions from the following: 5x4 =20
fasfeiie @-cpiea 516 eivss T mes

(a) What is steady state? Derive the steady state condition in the Solow growth
model.

oM Sy o=@ I F Q@ 2 Solow-93 Tmw rore BfeRsT o=y
TET * ([F T

(b) How will you relate the concept of Tobin’s ¢ with the investment decision of
firms?

Tobin-93 ¢ ©gta A TGk K@t Paee g Feim ke 9 ¢

4061 1 Turn Over
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(c)

(d)

(e)

®

(a)

(b)

(c)

(d)

4061

Write a short note on Acceleration Theory of Investment.
RfFIeR e wre e @3 BRel @ea

Explain how an individual chooses between present and future consumption using
a life time utility function.

gFee e [FoIm I W oRFGred (iR RN SemnRaET SoiEe!
o e e S i S

Distinguish between the cases of a risk-averting plunger going for all bonds and a
risk-loving investor.

IR-~Rad RiweeR [ e 7w Be/aw-9 [N FEes o 7o e
RfcseRg 5o 35+ aifFmg ik & 9
Do you think that transaction demand for money is interest sensitive? Explain.

i & W7 0@ @ Sda EEn SifEwt Jod 29 7 @i 27 9 i

Answer any two questions from the following:
fasfeie @-cee 7 et Teq wies

How do you derive the investment function using neo-classical model of
investment? Using this theory, trace the impact of the following on investment:

(1) An earthquake or war (i) Improvement of technology

RivcieR T Fared! ©g 777 I@ o [ s Fdad T 2 92 o9
L I Ricaicsm S sferiie el erem Wi s

(F) O™ Al I= (q) T HRHER T 2yfies Tafs

Explain why individual speculative demand for money is a ‘step function” while
the aggregate demand for money schedule is downward sloping.

e e whaEe biftnt s @9 SeerEs Ifre e ANfas wifgw @
=S it e

What do you mean by Golden Rule Level of capital accumulation in the Solow
Growth model? Derive the condition that describes the Golden Rule.

Solow-3 T W(TE T 7j@redd Fefte faawls wwce & @ ¢ @2 faawfs
e At sa ¢

Briefly explain:

(i) Demonstration Effect and

(i) Ratchet Effect on consumption as stated by Duesenberry in his Relative
Income Hypothesis.

(SIPTIFe GaRETS oY 2fSFs TEMER (SITRIER B
(F) T 2o @k
(¥) i’ eeR [FeiR i FEe 2

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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ECOACORI10T-EconoMmics (CC10)

STATISTICAL METHODS FOR EcoONOMICS-I1

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z T YMo Q"Y/VW fac Fed1
Candidates should answer in their own words AT [NCST ©IRNF TR T AT AT M
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10
fafeiie @-ieat #fipfs elvas Ted wies
(a) With example define a random variable.
TwIZFe! AN TG 5oTF-4F IR W€ |

(b) From a full pack of cards, if 3 cards are taken at random, what is the probability
that all are of different denominations?

IR @3 o I @ 3T o @ent =, erewh O R TEEE 2eAR
AR TS 9

(¢) If two events 4 and B are independent, then show that A4° and B° are also
independent.

I 4 @ B b FHF a1 2 O[F A8 @ 4 @R B¢ 8 Y F& w6l 2(J|
(d) Define uniform distribution.
Uniform fSG7 ¥kesl wis |
(e) For a Poisson distribution P(X =0)=P(X =1). Find P(X >0).
G35 #iee feie P(X = 0)= P(X =1) =& P(X > 0) e s
(f) The joint probability distribution of two variables X and Y is given below,
90 SRR T IS FGIRAI7)@ TCoHs (e Wy,

X Y 0 1
0 1/8 1/8
1/8 5/8
Evaluate the marginal distribution of X.
X-43 el facis e el
(g) Define probability sampling.
TR T 5T 21FfS PP A 9
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(h) A simple random sample of size 36 is drawn from a finite population of 101 units.
If the population S.D. is 12.6, find the standard error of sample mean when the
sample is drawn with replacement.

@ 101 Swee [RE e (& a6 36 e [¥E F7@el Fped T 53« 341
25, I ANEF-9F ANFRIT® 12.6 T IR Heel OR[N FPTE T 53 2fzfo
SPRe TR 2, O Tl SR TNF Afe el Tl

2. Answer any four questions from the following: 5%4 =20
T @-ieal 5 eie Ted mies

(a) Two cards are drawn from a well-shuffled pack of cards. Show that the
appearance of a king and the appearance of a spade are independent.

SOl (FOI @0 OICH A6 (CF G0 O ([e] 2e, & Tl 9o O
EFI7 2671 ¢ @36 O H(2F 1S FI& Fol |

(b) Find mean and variance of Poisson distribution.
RG] IR 2Tl @R cewslle foefa Fa

(c) Define ‘probability distribution function’ of a random variable. Explain joint 2+3
probability density function.
(PICA TP B TSR (@ S FIE 6 9 A FERA TG SCATFS
I A

(d) The height distribution of adult males of a certain race has mean 165 cm and
standard deviation 6 cm. Find the probability for an adult male to have height
below 158 c¢cm, above 175 c¢cm, and between 150 cm and 180 cm. Assume that
heights are normally distributed [Given @(1.167) = 0.8784, ®(1.667) = 0.9522,
®(2.5) =0.99379]
2NUTE 2T Tl [P v @ O T 165 E 9k TRpe 6 @I,
eIyl [T s @ aFE i Twhel 158 ERE I, @FE Jfea Thet 175
FiE @, 9Fow Ffeq Twvel 150 G @TF 180 GIE S, @it € TR’ &
el Frels [gfere ez [real otz d(1.167) = 0.8784, d(1.667) = 0.9522,
®(2.5) =0.99379]

(e) Distinguish between SRSWR and SRSWOR.
SRSWR @k SRSWOR *1&fs 7fba ey #idle el e

(f) Briefly discuss principal steps in sample survey.

T 53 oimfoba 2l diviefer FREFCH S Tl

3. Answer any two questions from the following: 10x2 =20
fasfeie - 7 evs Teq wies
(a) () X, Y and Z are three random variables so that X and Y are independent and 6

Z = XY, X can take two values 10 and 20, and the probability that X =10
is 1/3, Y can take three values: 5, 6 and 7. The probability that ¥ =5 is 1/4

and Y =6 is 1/2. Find the expectation of Z.

X, Y€ Z @3« T 7r7ed ookl @ X € Y /A @R Z = XV, X-«a3 46 W+
108 20. X =10 €A TSR 1/3, Y-9F A 5, 68 7 20 2IF, ¥ =5 AR
TR 1/4 @R Y = 6 29T TR 1/2 1| Z-a3 efeyit el Faat
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(ii)

(b) (1)

(ii)

(c) ()

(ii)

(d) ()

4111

(ii)

N.B.:

Find the probability that in a family of five children there will be at least one
boy.

sifvere fie (g 3« ARG 90 T Rie (2rere TR N T

A binomial distribution has mean 4 and standard deviation V3. Is the
distribution bimodal? Explain with reason. Find mode of the distribution.

a3 farm Koot e M9 4 @R e Rpfs V31 Rewwba & 76 watew
T Wiz ¢ I e 791, Reemita ke S+ [ S

Show that Poisson distribution is positively skewed and leptokurtic. Write
down the p.m.f of a Poisson variable with coefficient of variation 2% .

@S @ @Il “Re [eted 4919 effe @ & (positively skewed) @R
leptokurtic. @%b 7RG HER AV ©F S2FHH0 T I (SWIF 2% .

Define bivariate normal distribution. State two properties of this distribution.
fapeTs AR Rerew FitE 3011 @ 7io @3y @Tea

Is the following a joint probability density function? If yes examine whether
the variables are independent or not.

A SFFPOCP [ I TR TG SAHS @1 AW 9 I ©IR 2 O 241
IR X @R Y b1 90 T 5o [l 9

fx,y)=2B)x+De”  0<x<l, y>0
=0 elsewhere

What is standard error of a statistic?
O3 statistic-93 ANFIIE FISF 0T 2
The marks of 5 students in Economics are 20, 24, 20, 30 and 26. Random
samples of size 2 are drawn without replacement. Calculate E(x) and

SE (x). How far the values of E(X) and SE(X) change if samples are
drawn by “with replacement” method? (Here, x = sample mean)

5 & JIad SLNIfere @t 99 20, 24, 20, 30 @R 26 9 @&F SRSWOR
fafore 2 FTRME TPTEd Ta! RaE T & E(X) 9k SE () -9 A= e
(I, A SRSWOR A&STe Tl 7Ralg Tl ®O, O E(¥) 938 SE (X) -9% W=
FOb! “ff® 7 ¢ (X = T 91T)

Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 4th Semester Examination, 2020

ECOACORO08T-EcoNnoMICs (CCS8)

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10

fsERe @-ciet 256 2via Ted wies

(a) Define Nash equilibrium.
I SIAICTS TR WS |

(b) What is quasi-rent?
AR FICF CeT 2

(¢) Why demand for inputs is called ‘derived demand’?
ToFAel BIRAICT (e TG bifznl e 2

(d) What is dominant strategy?
AT (FieT <5

(e) What is meant by externality in consumption?
(I (T AT 0 fF @I 9

(f) Describe the conditions of exchange-efficiency in a two-person, two-good model?
73 & 12 73y uce [fTm-wrer sewfe 3¢q st

(g) Differentiate between firm demand and industry demand.
e wifemt e Ficewm vifen #11gs T

(h) Define welfare economics.
FoTIeFIRN SLeTIfoR e wie |

(1) State the prime characteristics of Monopsony market.

G (ela Areica 2 g Rge sl

2. Answer any four questions from the following: 5x4 =20

fsEke @-iet 51Ff6 2tia Ted wies

(a) Explain the concept of social welfare function.
NG Ferpiel ST QIefs 1 S|

(b) State briefly adverse selection and moral hazards.
R “elfopet v ¢ Cafos RRwife’ armel wfb @

(¢) Why the supply curve of labour is backward bending?
ST A @A BT 2 & 9
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(d) Explain in brief kinked demand curve.
c1el-ffTR pifewt i i=efs ket i e

(e) Show that the elasticity of supply of an input governs the level of rent.
(e (@ SAMICTR @I9NCTR FEfogiomelr e Aemi i fea s

(f) ‘Labour exploitation occurs in both the monopoly and monopsony markets’—
Explain.

‘R M @Bl Kool € @bl (ol Tew I 2@ A —N! T
(g) How can risk be reduced through diversification?

Rivaace g i [Fei 2= T a7 9
(h) Explain the concept of excess capacity of a firm under monopolistic competition.

GO SIS AR T Tge Foid A=elB 41t T |

3. Answer any two questions from the following: 10x2 =20
fasfie @-ce 7 evs Teq wies

(a) ‘Ifall the markets in an economy are perfectly competitive, Pareto efficiency will
automatically be reached’— Do you agree with this statement? Give reasons.

I TS i el “feferiael e S i WSl Fe Tl e
34 e — o & 92 I3 3 QIS (Hilel T 2 IR (oIR Srole mie |

(b) What is cartel? Use Prisoners’ Dilemma to explain instability of cartel.
I T 9 TR R0 AN FRIC PICHCER S| 1 A |

(c) ‘Rent is not income of a particular factor of production but merely an aspect of
income of any factor of production’— Explain.

Qe wysllg @0 e SAMICT =T 7, (@ Fie SAMICT SNEd @5 [os s —
AR A

(d) Derive firm’s demand curve for a variable factor in a competitive market when
several variable factors are used.

afsrforere AeE T2 Tome JIRTHE 9I0 FEE @ 90 [eR TAmicT
wifzw @ iz s

(e) Explain the price and output determination in a model with a dominant firm and a
competitive fringe.
a6 S A AL T @ PR TPREFI TG GeoAwS @D AR [FOIR 7 @
Teoiwe 7S Frare (e 2 TS ©f A1 Il

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 4th Semester Examination, 2020

ECOACORO09T-EconoMmiIcs (CC9)

INTERMEDIATE MACROECONOMICS-II

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

I. Answer any five questions from the following: 2x5=10

fasfeiie @-ieat #fipfs elvas Ted wiss

(a) What is adaptive expectation?
S @opi 5 9

(b) What is meant by Growth Accounting?
w2 Ffard aleiet w700 [ @RI 9

(c) What is inventory investment?
epe RIS FICE A0 9

(d) What do you mean by speculative demand for money?
FivFiaie Sde bifRnl e & @ical ¢

(e) What is the basic idea of the Rational Expectation Theory?
Ffeleies oy wrgd o1 aiel it S

(f) What do you mean by consumption puzzle?
celaeTiere 44l TeTCe 6 @R 9

(g) What is Solow residual?
TN SR FoT0e < @RI 2

(h) What is steady state?
HRbeTe SRR SRS FICE AT 2

2. Answer any four questions from the following: 5x4 =20

fsEke @-iet 51Ff6 2tia Ted wies

(a) What do you mean by Golden Rule Level of capital accumulation in the Solow 5
Growth Model?
(AT ST WO e AES0TR Feffe o <eice &6 @i ¢

(b) What was the doctrine of Mercantilism? How does it fundamentally differ from 2+3
Physiocracy?
TR Foferer ol & fee ¢ e fErawifs srea et @3 a1 N @@= 9
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(c) Distinguish between fixed and flexible accelerator.
%1 @ sifee el wa 7 S A &

(d) Do you think that transaction demand for money is interest sensitive? Explain.
ofSl 5 A e @ e e BifRwl orE R =i el 2 9 i e

(e) How do the new Keynesian macro-economists explain that the wages and prices
are not flexible in the short-run?
T @A TEere wRfeRval Feir T FEET @ THEEE TR ¢ wed B
AT 2

(f) How is the consumption puzzle solved by the Relative Income Hypothesis?
Explain.

ol oY ©rgd MR (Siaiae g fFei s 51 27 ¢

3. Answer any two questions from the following:
fasfeie - 7 evs Teq wies

(a) Explain why individual speculative demand for money is a ‘step function’ while
the aggregate demand for money schedule is downward sloping.

odfa feste FoasiTe vifzw @l Lo Sicorss fne wedq AW vifent @2 =S
R FCANN

(b) Discuss the Solow model of growth. Examine the effects of change in (i) the
savings rate and (ii) the rate of growth of population on the growth rate of the
economy. What are the features of endogenous growth models?

-3 ST e Sceaba Scasat S Sifde Tfag $oF (1) HHEEd AEE @R
(i) TPRA-T g AEF RS dOR FEv F@l1 AT Mg @SS«
ored (aErefe i o

(c) What are the different forms of Investment? How an income tax on corporate
profit affects investment decision? What is Tobin’s “¢”? How it is influenced by
stock market fluctuations?

Rfvcer [fen agfosl & & ¢ afdftrr kzr TR B 39 e [fvaies
Praee eeiike 36 2 Bk @3 ¢ I 0 9 R ASIER S 7Rot @b FoIt
2ol 23 9

(d) Explain how the Fisherian theory of Intertemporal Choice explains the effect of a
rise in real rate of interest on consumption of different periods. What may happen
to consumer’s optimum choice for a borrowing constraint which is binding in
nature?

I FC | T e 7S TREAY AUTF O (SIGIF vl 53 [FoiE erelfte o7 ¢

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 4th Semester Examination, 2020

ECOACORI10T-EconoMmics (CC10)

STATISTICAL METHODS FOR EcoONOMICS-I1

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z FIMo Q"Y/VW fac T
Candidates should answer in their own words AT [NCST ©IRNF TR TG AT M
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10

feaferiae @-cieat =5 @ Te nies

(a) Give Classical definition of Probability.
TR Y77 7@ 7€ |

(b) Define Probability density function.
YAl g SCHFF FCF 0T 2

(c) Are mutually exclusive events independent?
ofteei ARl T Bl f 7@ 2

(d) Cite two situations where Poisson distribution is the appropriate theoretical
distribution.

uft ~iffzfon e e T @RI #=7e e wifgs e R e
(e) Explain Stratified Random Sampling.
BAGS AT T[] B FICF 0T 9

(f) For a population of six units, the values of a characteristic X are given by 3, 9, 6,
5, 7, 10. Consider all possible samples of size two from the above population.

= 935 [ e oF @i @36 @fiEy X-1 Weefi %=1 3, 9, 6, 5, 7, 10.
TGS FACHH (A Y2 Oed (2 71y TAF [t s

(g) What is Sufficient Estimator?
A AFTF FIE 0 9

(h) For two random variables X and Y
E(X) =8, E(Y) =6, Var(X) = 16 Var(¥) =36 and p,,=0.5
Calculate Cov (X, X+Y).

b R 5518 X @R Y 3 (FCT E(X) = 8, E(Y) = 6, Var(X) = 16 Var(Y) = 36 &%
p.,=0.5; Cov (X, X+Y)-%= faefay vcai

4111 1 Turn Over



CBCS/B.A./B.Sc./Hons./4th Sem./ECOACOR10T/2020

2. Answer any four questions from the following: 5%4 =20
fasfrie - e eless Teg nies
(a) State and prove Bayes’ theorem. 2+3
Bayes’-3 &A9(mis Rg® '@ @sidl el |
(b) Show that Poisson distribution is a limiting form of Binomial distribution. 5
8 @ 2R e s fweices @6 e 6o
(c) Evaluate probability distribution function (F(x)) from the following probability 5

density function f(x).
e ARG 99g SorFF (AF ASRA! = Serws e e
f(x) =(1/8)e™° for 0< x < oo

= ( elsewhere

(d) Giving example explain the difference between statistic and parameter. 5
Twfzgel ST statistic G3R parameter-3 21 A FC! |
(e) Explain Maximum likelihood method of estimation. 5

ARSFT FAEF AV 2Iwfo’ A S|

(f) X and Y are two random variables having joint probability distribution given 5
below:
(0 oI X @R Y-a3 W& FYe TRl e eI ew (rean zgeis
Y 0 1 2
X
0 0.1 0.1 0.1
1 0.1 0.2 0.1
2 0.1 0.1 0.1

Calculate correlation coefficient between X and Y (p,)).
X @R Y-97 g 72olfs 72ol= (p,,) 7 T

3. Answer any two questions from the following: 10x2 =20
fasfeie @-ce 7 et Teq wies
(a) (i) Prove that for two independent random variables E(XY)=E(X)-E(Y). 4

23l B @ 90 FEA O o9 @3 (F@ E(XY) = E(X)-E(Y) |

(i) A and B play for a prize of Rs. 99. The Prize is to be owned by a player who 6
first throw a “3” with a dice. A4 first throws if he fails B throws and if he
fails, 4 again throws and so on. Find their respective expectation.

99 DI 2NEE & 4 QR B (AEF | @I =@ AR @ HENRG 20 3
(T (R &iTS oS FE | A 20 23! [0 F0a o7 It sigedid 23 o[ B =@l
et 3, T G TP W O@ WRE 4 2@ Fews! I3 (TSR (4e verce
QCF | S AT 2epit el Fa
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(b) (i) Find mean and variance of Binomial distribution.

(ii)

(c) ()

(ii)

(d) (@)

4111

(ii)

N.B.:

ol fRCIta 9T Wi @ (on Wi foef el

In a sample of 100 workers in a factory the mean and standard deviation of
wages are Rs. 11.35 and Rs. 3.03 respectively. Find the percentage of
workers getting wages between Rs. 9 and Rs. 17 in the whole factory,
assuming that the wages are normally distributed.

[ Given ©(1.86) = 0.9686 and ®(0.78) = 0.7823]

O PRANT 100 TCF @FH T TSN 261 THF TGRER 9T A @R ITHF
A1 TAFCT 11.35 '8 3.03 BIFT 1 Ioal FIRAAE F© *oik* &5 9 il @ 17
B g WgR - 2N [T Tt @i gl wreiie [Refere @itel

[reT! Btz O(1.86) = 0.9686 G @(0.78) = 0.7823]

Find the mean of a sample mean in both SRSWR and SRSWOR. Also
calculate Standard error of sample mean in SRSWR.

SRSWR @& SRSWOR +i&fs 7o fofers o2 Tl aitea af¢ ey s
SRSWR-F (a3l 9CTH 7 A% el ea

Following is the random sample from an unknown population 14, 19, 17, 20,
25. Estimate the Mean and Standard deviation of population.

Q6 SOl ANEF (AT RS FPrEd T 92T 2@eR 14, 19, 17, 20, 25;
TN 51T 8 TN [yfeq aafb »famiet faef s

A random sample of 100 days shows an average daily sale of Rs.50 with a
standard deviation of Rs. 10 in a particular shop. Assuming a Normal
distribution, construct a 95 % confidence interval for the expected sale per
day.

@A @I P @F 2oz [RiF 100 Mea @3 e 991 (el 2@
T R @ (iR @ rojies [ ofe 2e1 50 Bl @k e [Kpyfs et 10
Bl I @@ AW grweE weRe Refen aRdl ST wite o eepifie
eresfes Rf&a @36 “95 % confidence interval” fef Tt

Discuss the advantages of sampling method over census method of
collection of statistical information.

ARPRAINNE O FRaAZF CFCq 2 ITHel oIS S T 53w afoioa
HRefer SCETH! !

Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
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